Resistance
R between opposite
corners of the cube

Equivalent Circuit

R/3

equipotential
(by symmetry)

R/6

equipotential
(by symmetry)

R/3

Total =R/3 + R/6 + R/3 = 5/6 R = .8333R



Resistance
R between opposite
corners on any face
of the cube
R
R R
R
R
R R
R R
R
Equivalent Circuit
R
R R R R
equipotential R
(by symmetry) ® *
R
¢ ®
R R R R
R
¢

Total=R // 3R = 3/4R




Resistance
R between adjacent
corners on any face
of the cube
R
R R
R
R
R R
R R
R
Equivalent Circuit * * Equivalent Circuit *
R R
® ® ®
R/2 R/2
R R R R
R > R/2
equipoterjtial % Vad ® ®
(by symmietry), ,
/ R », equipotential
¢~ ¢ (by|symmetry)
R R R R R/2 R/2
R R

Total =R //1.40R = 7/12R = .58333R



